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LA 30.5 BRE 14.5 648 — 540 15
IZALA 20.9 E 5 15.0 — 1,836 — 10l va9 LL
kS 12.0 BRE 11.9 2,700 — 1,674 10 S
(<& 24.9 BRE 10.4 - 378 — 150 A 6
HTE 1.8 ERE 0.2 1,944 1,836 1,080 a4l A M
ZEDL 7.7 ERE 3.9 1,836 1,404 1,296 4f A M
Fry 108.7 = I 91.7 756 540 432 0] A 8
IE5SNAZES 3.5 BRE 15 2,808 2,592 1,620 4f A M
¥ 8.2 BRE 45 1,944 1,080 972 3l A L
hE 1.8 E & 1.3 2,268 1,944 1,728 3 L
_hE 12 [ 0.3 - 2,592 — 3 vay M
125 24 = I 1.1 2,700 2,160 2,052 5] vay
L) — 4.1 2 [ 1.4 - 1,188 — 5/ A L
T RINTH R 14 EES 0.8 154 — 130 0.1] va9 M
LARX 27.2 £ B 26.9 1,674 — 1512 10 16
FUFYA 15 BRE 0.8 1,728 - 1,512 4f A L
=Y 17.6 BRE 9.2 1,782 864 756 5/ A L
=5Y ElG 3.7 1,998 1,728 1,620 51 A M
NESSED 10.6 BRE 5.5 2,700 - 972 0] A 5
Y 5.8 EES 3.9 2,376 2,376 2.160 5/ A 32
Y = I 1.2 2,376 1,836 1,836 5/ A L
k< 33.1 EES 14.7 1512 1,404 1,080 4l van L
k< x 9 9.3 1,620 1,296 1,134 4f A 24
S 9.7 ERE 8.0 119 86 86 02 A M
E—<> 9.5 BERE 5.4 3,240 — 2,700 10 A LM
ES5HACL 9.4 BRE 6.3 - 3,240 - 150 A 30
Fo5 1.6 BRE 1.6 140 108 97 0.3
12H5Y 3.3 BRE 3.2 2,160 1,404 1,404 3l A L
SOVAITFA 1.0 BRE 0.9 - 648 - 2l A
MhALE 3.9 E X 34 2,160 1,944 1,944 5 LL
[EhiLs 10.6 ERE 24 864 756 540 10 3L
[EC YN BERE 1,296 972 432 10 LL
&L 0.6 BERE 0.6 - 2,808 - 2l A
f-Fh=E 71.2 £ B 70.4 3,240 — 3,024 20l Va9 L
5OELD 1.8 ERE 1.8 3,780 3,780 2,700 10 A L
ELLV=T 1.7 ERE 0.1 - 119 - 0.1 A L
ELLV=T =0 0.9 86 86 76 0.1 A M
ZDEET 44 K B 3.1 32 22 22 0.1 A
LHL 3.1 12 [ 25 97 72 70 0.2
PP iREt 469.6
e

o & B & E i = & & =z B £
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(t) ARIEW) (M) (M) (M) (kg)

RN A MAET 34
INDRHBA 34 = B 3.4 4,860 4,320 3,672 5[ Y19 L
INDRH A i B 5,724 5,400 4860 5| a7y M
INDRH A i B 5,940 4,320 4,320 5] a1y S
LEY 2.4 FA)AH 24 7,560 6,480 4,860 17 115
INLLT 3.3 FA)H 3.2 3,888 3,758 3,240 17
L7y 0.4 E72Y 0.3 4,536 — 4,320 15 50
YACE 8.7
PEp =T 2.2 5 2.2 6,696 5,400 5,184 10
AL 6.0 5 & 6.0 7,258 — 7,128 12
E# 0.1 5 0.1 6,480 - 6,048 10
Uh £ 5 432 — 410 0.25| 7hY1 L
3HET 25
3% 25 B X 2.0 486 410 410 05 a9y L
3435t 1.0
RS 1.0 12 [ 0.4 518 432 432 04| 7hva LL
$3E5 04 w2 0.3 - 540 — 02| ¥Yay LL
B35 iz 756 389 162 02| vay L
B35 w2 - 702 - 02| ¥Yay M
58 8.5 = 5.2 - 6,804 - 10 Y1y L
SESET 0.7
T29x7F 0.3 =l 0.1 - - — PR LL
T29z7F =l - 3,629 - 16] A L
T29x7F =l - - - PR M
= 0.2 2 @ 0.2 972 - 918 0.35| 74va
EA—=* 0.1 12 [ 918 918 864 0.3 B 4L
W52 0.6 BERE 0.6 - 432 - 0250 A L
W52 BERE 378 - 324 0250 A M
A0 &t 6.7
7—ILR 0.8 % [ 1,998 1,998 1,717 1 ¥v 6
AHI 0.5
FRAOY 5.3 B X 5.1 - 2,268 - 5/ vay 4L
FULIAET 144
ERAY) 13.3 HE K 46 3,024 - 2,484 12 A 4L
ERAY) B K - 2,700 - 13| vam 3L
CEETLVD 1.0 B K 0.8 3,456 - 3,024 10 vam LL
INFF 26.2 EUEY 26.1 4,320 3,186 2,808 15
IMFyTIL 5.2 EUEY 5.2 3,240 2,592 2,592 10 8
FoA4T)LY 2.2 ol B 2.2 6,156 - 4,050 15 4
BEET 88.0




